1. Laylacuts 4 lawns in 3 hours, the next day at the same rate she cuts lawns for 9 hours. How
many lawns did she cut the next day?
A. 12 lawns
B. 18 lawns



You are right! Go to next.



You are wrong! Try again.



2. What is the equivalent ratio of 16:9?
A. 4:3
B. 32:18
C. bothAandB



You are right! Go to next.



You are wrong! Try again.



3. Hannah works at Blooming Bouquets flower shop. She uses 2 roses for every 5 carnations in
the Spring Medley bouquets. Today she will make a Spring Medley bouquet with 16 roses.
How many carnations should Hannah use in the bouquet?

A. 35 carnations
B. 40 carnations



You are right! Go to next.



You are wrong! Try again.



4. Dominos pizza has a special sale today. When a costumer buys 4 pizzas, they will get a set of
6 chocolate cookies. Alisa bought 10 pizzas for her party. How many chocolate cookies does
Alisa get?

A. 20 chocolate cookies

B. 15 chocolate cookies




You are right! Go to next.



You are wrong! Try again.



5. When Cara drives to work, it takes her 30 minutes to drive 15 miles. On her days off, she
likes to drive to her favorite donut shop. It takes Cara 6 minutes to drive to The Dreamy
Donut Shop at the same rate. How far is the Dreamy Donut shop away from home?

A. 5 miles
B. 3 miles



You are right!



You are wrong! Try again.



